1. ek - & ERRDFE

1 s - & EAR O

JE %k Hegk & Lk
tall taller tallest
busy busier busiest
big bigger biggest
useful more useful most useful
good[well] better best
bad worse worst
many more most
much more most
little (A7) less least
late (~ D) ter [atest
for (~HA0 fusther Furthest




2. Rk DEE

(a) HEARH72

Tom is as tall as I (am).
(FLRRERL L SWEDE,)
He is as nice a person as his father.
(ix, FORBEFL < 5WVWWWATT,)
I don'’t sing as[so] well as my sister (does).
(RAFIRIZ EHAYLF <720, )
I have as many books as you (do).
(FAE B 2722 A UL SVWDOBOAEFF>TWET,)

This pencil is three times as long as that one.

= This pencil is three times the length of that one.
(ZDIEIZHDIED 3fFDORT )

(b) EMREL

The doctor came as quickly as he could.
= The doctor came as quickly as possible.
(ZDOEFZHIE TELET AWTPRoTHRE,)
She looks as cheerful as ever.
(2 Db 5T TR E D7)
As many as sixty thousand birds spend the winter here.
(6 M £D KW ZTLEBT,)
He speaks French as well as English.
= He speaks not only English but also French.
(T EFE AU L DI 7T VY AFEDBERT,)
This car is as good as new.
(Z DR [FSR TY)
She left the room without so much as saying good-bye.

(HEF X kb 552 AT ITHE%2H72.)




3. LR DA

(a)

VN DR ANERES

This rock is heavier than that one.
(ZDERHDELD BE,)

My brother has more CDs than me.
(FADBIEFAE D 72 TAD CD 2F>TWVW5,)
The teacher is not younger than my father.
(ZORAEFBDOREVEH LN T EIFRW,)

Tom is three years younger than John.

= Tom is younger than John by three years.
(FAiFEYa v &b 3ETRA)

This house is muchl[far] larger than mine.
(ZOFRIFHORED BT oL [IFEHI12] KEW,)

This car is less expensive than that one.

= That car is more expensive than this one.
(ZOHEFHOHIFEEIEHR,)

He looks much younger than he really is.
(HIEFEBOERE VT o B RZ5,)

The population of Japan is much smaller than of China.
(HADADIFHEOAO LD BT 5 2 4R0,)

VRSS!

More and more people are traveling abroad these days.
(B, £9E 9% <D APMSINRITICHNA T TWS,)
The higher we climbed, the colder it became.
(BB @l BNIXESIFE, Bl ko7z,)
I like her all the better for her faults.
(BELDRE7ZIT LD Vo Z D R LG E72,)
I can’t buy a car, much|still] less a house.
(FAFHZES 22D TERY, FLTP REES 22 RETE BW,)
I know better than to go sailing without a life jacket.
(FAFR @K B D FIca v M2 ED LS RELETIER,)
She lost her way, and what was worse, it began to rain.
(W IFEIZ K- 72, EOWCENZ 2T, A>T E7,)
He is no longer able to sing.
(BelE B3P B> 2 EATE B,)
A whale is no more a fish than a horse is.
(BARTARVOE AR, BIEETHE 2V,
A whale is no less a mammal than a horse is.

(B TH 2D & AR, HIXHAET H5,)




(c) 57 aB LR

He is four years senior to me.
= He is four years older than me.
(BIEFA & D 4 %4E 172,)
This dictionary is much superior to that.
= This dictionary is much better than that.
(ZoBEIFXZENLIDBITEINPITENTVS,)

I prefer white wine to red.

= I like white wine better than red.

(FAF/RTA v E0ATAL v DIES I ETT,)

%  senior-junior, superior-inferior, major-minor, prior-posterior, prefer i than @ {1 9 (T to

4. R ERDORE
(a) HEAM 7R

He is the fastest runner this school.
(HIFZDFKRTE o LB HEVEETT,)

He swims (the) fastest us all.
(IZR 2B DR TE o L BHEL KL,

Mike is the second tallest student in this class.
(XA 27 ZDIFAT2HBAICEDEWFETT,)

She is by far[much] the best singer in this country.
(#221& Z DETW bV IO S £ VBRFET,)

This is the least expensive camera in this store.

= This is the most cheap camera in this store.
(ZNHBZDETHo L HELBRVWAATTT,)
Tokyo is one of the largest cities in the world.

CREUIHIER TR KRE AT D—27,)

(b) tEMZRBL

It will take at (the) least two hours to get there.
(ZZ &< ET. Al L E2HHE»H» 57225 5,)
People are at their best when they are under pressure.

(A2Z, Ty vy —DTILhHdLE, BEOREIZHB,)

He is the last person to tell a lie.

(Bld LT 52 %20 B AR,




5. ¥R ERIF
(a) B - LS TR ERONE 2 £S (&)

Mt. Fuji is the highest mountain in Japan.

= Mt. Fuji is higher than any other mountain in Japan.
= No (other) mountain in Japan is higher than Mt. Fuji.
= No (other) mountain in Japan is as high as Mt. Fuji.

(ELIEHATHRD mWILZE,)

(b) AL WS XbHLAB

The drama was not so much a tragedy as a comedy.
A B
= The drama was not a tragedy so much as a comedy.
A B
= The drama was less a tragedy than a comedy.
A B
= The drama was more a comedy than a tragedy.
B A
= The drama was a comedy rather than a tragedy.
B A
(ZFORIIFER VWS KD, BUAERIEZ-T,)
A B

(c) the D& %7 L DHiSk
Tom is the taller of the two.
(P22 NOFHTEDOEWVIESZ,)

This lake is deepest here.
(ZDHIFZ Z T—FEN.)

(d) &% R HBHE

DA, B,C,DD4AT, —HFLLDBERER>TWVWDDIFHED?

(A) “T have no less than 10,000 yen.”
( )

(B) “I have not less than 10,000 yen.”
( )

’

(C) “I have no more than 10,000 yen.’
( )

4

(D) “I have not more than 10,000 yen.’
( )

- ( )
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¥ NI U THEIEL L BEANRZET




